
SHOREMASTER.COM  

Boat Lift AccessoriesBoat Lift Accessories
®

DETAIL  A
SCALE 1 / 13

Parts List
DESCRIPTIONPART NUMBERQTYITEM

Wdmt Tri-Toon Center Cradle Pocket 101707321
Wdmt Tri-Toon Center Cradle Pocket 5010102898921
Wdmt Tri-Toon Center Cradle w/Post 101707222
Bolt Bag Tri-Toon Center Cradle 10170711-

Set Screw 1/2-13 x 1.5 SS 304 Cup Point100255843
Nut Square 1/2-13 Brass100179344
Nut Flange 3/8-16 Brass100180245
Bolt Hex 3/8-16 x 3.25 SS 304100243646
Bolt Carriage 3/8-16 x 2.5 SS 304100196087

A

Failure to follow instructions may 
result in personal injury and may 
invalidate the applicable warranty.
 

                    Be sure to countersink carriage 
bolts into the bunks to avoid watercraft 
damage.
 

Step 1. Remove the blue vinyl keel 
protector (only on DVS lifts).
 

Step 2. Place the Cradle Pockets over the 
center of the Lift Rack (front and back). 
Secure each with two 3/8 x 3-1/4 hex bolts 
and two 3/8 flange nuts.
 

Step 3. Slide one Cradle Post into each 
Cradle Pocket. Secure each with two 1/2 
Square Nuts and two 1/2 x 1-1/2 Set 
Screws.
 

Step 4. Attach cradle boards (not included) 
to each pontoon saddle using provided 3/8 x
2-1/2 carriage bolts.

Tri-Toon Center Cradle
Instructions
Part #: 1017068 (2-6k DVS)
Part #: 1028990 (5510 Pontoon)

2

4

1

3

3

6

6

5

5

4


